
W którym województwie leży to miasto?

Jak w tytule testu.

Poziom trudności: Średni

1. Żyrardów

A - Łódzkie

B - Mazowieckie

C - Świętokrzyskie

D - Lubelskie

2. Olkusz

A - Małopolskie

B - Śląskie

C - Podkarpackie

D - Świętokrzyskie

3. Mielec

A - Podkarpackie

B - Warmińsko Mazurskie

C - Pomorskie

D - Mazowieckie

4. Świecie

A - Kujawsko - Pomorskie

B - Łódzkie

C - Lubelskie

D - Podlaskie

5. Goleniów

A - Zachodniopomorskie

B - Lubelskie

C - Dolnośląskie

D - Lubuskie
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6. Przasnysz

A - Mazowieckie

B - Podlaskie

C - Lubuskie

D - Dolnośląskie

7. Bytów

A - Pomorskie

B - Śląskie

C - Podlaskie

D - Podkarpackie

8. Szamotuły

A - Śląskie

B - Podlaskie

C - Wielkopolskie

D - Lubuskie

9. Sandomierz

A - Świętokrzyskie

B - Lubelskie

C - Podkarpackie

D - Małopolskie

10. Bełchatów

A - Śląskie

B - Łódzkie

C - Mazowieckie

D - Dolnośląskie
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W którym województwie leży to miasto?

Jak w tytule testu.

Poziom trudności: Średni

Karta odpowiedzi

1. B

2. A

3. A

4. A

5. A

6. A

7. A

8. C

9. A

10. B
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